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78 sin Acos C +sin Ccos A =2sin A.
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m“f(%) Sifl, wusounnnamo A n R S S KA SRS R AN S S SRS S R SR 4 4y

( I )A(x) =sin 2wxcos @ +2 cos’wxsin ¢,

=sin 2wxcos @ + (cos 2wx +1)sin ¢
=8in 2wxcos ¢ + cos 2wxsin ¢ +sin @,
=sin(2wx +¢) +sin ¢.
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BT A sin( —%Hp) = —1,?%go=2k'rr—%(keZ).
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. (I)H f(x) =€ +cos x,18 f(0) =2 B f'(x) =¢" —sin x,
FRLAS'(0) =1.
FrLAREER y =f(x) #E(0,£(0) ) ALHY VIR TR K .y - £(0) =£"(0) (x -0).
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Eygx‘j‘ﬁ—:ﬁ L€ {2:31'":"'—1} 12242 =2i+1 —a?,iﬂszi+l =Gy,
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2n+2 _8 _2n+2 _5

< 3 5 i LI
1427427+ 42" =1+ 3 3

=1 e, =a,=1,a,_, =a, =a,,, =2%- 5By =3 =1 (s=1 ,2,3,...,712;1)5:},
ERREXBB|ES, 45 A EOFO, & 7§71 .
%J:,az+a4+as+'--+aznﬂgﬁ7t{§§9-2-“;——5- ................................. 15 43

H=HFESEER H6R(I6N)



